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Homework 10 Solution
Total   40
5.47
 ( = 12 cm
( = .04 cm
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5.50
( = 10,000 psi

( = 500 psi

a. n = 40
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b. According to the Rule of Thumb given in Section 5.4, n should be greater6 than 30 in order to apply the C.L.T., thus using the same procedure for n = 15 as was used for n =   40 would not be appropriate.
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5.51

X ~ N(10,4).  For day 1, n = 5

P(
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For day 2, n = 6
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For both days,


P(
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5.59
a. E( X1 + X2 + X3 ) = 180, V(X1 + X2 + X3) = 45, 
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P(150 ( X1 + X2 + X3 ( 200) = 
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b. 
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c. E( X1 - .5X2 -.5X3 ) = 0; 

V( X1 - .5X2 -.5X3 ) = 
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d. E( X1 + X2 + X3 ) = 150,  V(X1 + X2 + X3) = 36, 
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P(X1 + X2 + X3 ( 200) = 
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We want P( X1 + X2 ( 2X3), or written another way,  P( X1 + X2 - 2X3 ( 0) 

E( X1 + X2 - 2X3 ) = 40 + 50 – 2(60) = -30,  

V(X1 + X2 - 2X3) = 
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5.60 

Y is normally distributed with 
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Thus, 
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6.15
a. 
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6.16

a. 
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b. 
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